Notes from today October 09, 2017

Pick Up the Warm Up o

Do not use a Calculator (except
for to check your answers)
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o
Shifts to the right 2 units and down 5 units, % — (X"’ A ) — >
=
Shifts to the left 3 units and up 1 unit. (ﬂ = (K+ %> + l

<
Shifts down 4 units. 3 = O\l —=/
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=
Shifts right 10.9 units. ﬂ _ (x—lo ‘i>

Stretched vertically by a factor of 2.5 and shiftéd 9.8 units left and 8 units down.

il 2
Compressed vertically by a factor of 0.4 and shifted 7.3 units to the right.
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On the road to becoming.....

proficient at writing

proficient with
transformating
parabolas

functions of parabolos in
both standard form and

graphing form
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Standard form® y=ax®* +bx+c
Graphing form: y=a(x—h)*+k v

Factored form: y=a(x + b)(x + ¢). /

AT ¥ 1

Perform Mathematical”
Modeling with Parabolas

TMe
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Use (1)
= a —#)2 +3
0 - (Ga+3
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Move o\ Yo

d- GG

When Ms. Bibbi kicked a soccer ball, it traveled a horizontal distance of
150 feet and reached a height of 100 feet at its highest point. Sketch the
path of the soccer ball and find an equation of the parabola that models it.
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Next....
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At the skateboard park, the hot new attraction is the U-Dip, a cement
structure embedded into the ground. The cross-sectional view of the U-Dip
is a parabola that dips 15 feet below the ground. The width at ground level,
its widest part, is 40 feet across. Sketch the cross-sectional view of the U-
Dip, and find an equation of the parabola that models it.
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